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é Grey line: exponential fit Peak flux: 4.742+/- 0.661 c/s/cm? E
E Black line: power law + gauss fit Fluence : 27.70+/- 4.03 c/cm? 3
= Dashed line: power law 7 : ) =
= Duration: 16.29+/- 3.54s =
g Best fit model: 1. E
= Best fluence model: 1. E
g Best duration model: 1. g
= i | M il W Jm i \HMM ‘ HHE
= A AL T
; Exponential fit é
= Expon.time: 6.52+/- 1.35s (chi*red= 1.07) =
S b D e 1 e m%
= ff W# W Hy HHH HWN# P IRA"  y HH%HWHW ﬂ# ”M#H fith HHM JHH Hm PR g (e
= | B
; Power law fit é
= Power law index: -1.237+/- 0.167 (chi’-red= 1.07) 3
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—  Power law fit plus Gaussian (st.dev.= 12.05+/- 3.26 s, fracgs= 0.20+/- 0.14) =
- Power law index: -1.689+/- 1.002 (chi*-red= 1.07) 7
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